
EXIST GUSSET
PLATES

EXIST BOTTOM
CHORD MEMBER

23
5±

W150X37 JACKING BEAM

BUILT T SECTION,
REFER TO DETAILEXIST BOTTOM

CHORD MEMBER

C BEARINGL

375
M20 BOLT
(TYP)

60

30
±

30
±

C JACKINGL

3
- -

TYPE A - SECTION
1 : 10
EXIST BEARING BELOW NOT SHOWN FOR CLARITY

22Ø HOLE IN JACKING BEAM
AND 22Ø X 26 LONG
SLOTTED HOLES IN BUILT T
SECTION WEB FOR M20 BOLT
(TYP)

SOUTH NORTH

51
35 MIN

17
4±

21
0± C
 

EX
IS

T
TR

U
SS

L

W150X37 JACKING BEAM

JACK AND JACKING PLATES

22Ø HOLE FOR
M20 BOLT

FIELD DRILL THESE 3 LOCATIONS
TO MATCH EXIST RIVET HOLES
INTO BUILT T SECTION

BUILT T SECTION,
REFER TO DETAIL

1
3 4

TYPE A - JACKING DETAIL
1 : 10

200X200X25 THICK
JACKING BASE PLATE

3
- -

270X430X25 THICK
BASE PLATE

HILTI HIT-RE 500 V3 WITH
19Ø HAS ROD WITH 100mm
MINIMUM EMBEDMENT

TOP OF EXIST
PIER CAP

C JACKINGL

VARIES
REFER TO
SECTION 3

ON SHEET 3

270X430X6 THICK
FABREEKA PAD

2
- -

C BEARINGL

31

SOUTH NORTH

200x200x6 THICK TEFLON SHEET

375±

4
- -

EXIST REINFORCED
CONCRETE JACKET

HILTI HIT-RE 500 V3 WITH 25M
REBAR ANCHOR, 600 EMBEDMENT
INTO EXIST PIER (TYP)
9 ANCHORS AT EACH BEARING

27
5

5
- -

C
 E

XI
ST

 T
R

U
SS

BO
TT

O
M

C
H

O
R

D

L

6
- -

BUILT T - DETAIL
1 : 5

TYP8
8

20

190

72

16
22Ø X 26 LONG
SLOTTED HOLES
FOR M20 BOLT

40

45
22Ø HOLES
FOR M20 BOLT
(TYP)

50 50

32

9
- -

8
- -

45

JACK AND JACKING
PLATES

C JACKINGL

4
- -

TYPE A - SECTION
1 : 10

VARIES
REFER TO
SECTION 3

ON SHEET 3

VARIES

43
0

35
0

40
40

25 THK BASE PLATE

HILTI HIT-RE 500 V3 WITH
19Ø HAS ROD WITH 100mm
MINIMUM EMBEDMENT

270

40 230

EXIST PIER CAP

SOUTH NORTH

60

C
 

EX
IS

T
TR

U
SS

L

25

JACK AND JACKING
PLATES

27
5

31

200X200X25 THICK
JACKING BASE PLATE

TOP OF EXIST
PIER CAP

W150X37 JACKING
BEAM WEB

BUILT T SECTION,
REFER TO DETAIL

EXIST GUSSET PLATES

EXIST BOTTOM
CHORD MEMBER

22Ø HOLE IN JACKING BEAM
AND 22Ø X 26 LONG SLOTTED
HOLES IN BUILT T SECTION
WEB FOR M20 BOLT (TYP)

2
- -

TYPE A - SECTION
1 : 10

43
0 

- B
U

IL
T 

T

5

43
5

- J
AC

KI
N

G
 B

EA
M

WESTEAST

270X430X25 THICK
BASE PLATEHILTI HIT-RE 500 V3 WITH

19Ø HAS ROD WITH 100mm
MINIMUM EMBEDMENT 270X430X6 THICK

FABREEKA PAD

200x200x6 THICK
TEFLON SHEET

6

C EXIST
TRUSS

L

W150X37
JACKING BEAM

C JACKINGL

SOUTH NORTH

200X200X25 THK
JACKING BASE PLATE

JACK AND JACKING
PLATES (BELOW)

TYP 8

5
- -

TYPE A - SECTION
1 : 5

7
- -

C
 E

XI
ST

TR
U

SS
L

43
0

4550 5045

40
2 

SP
AC

ES
@

 6
0 

= 
12

0

35

190

9
- -

BUILT T - DETAIL
1 : 5

FIELD DRILL THESE 3
LOCATIONS TO MATCH
EXIST RIVET HOLES
INTO BUILT T SECTION

8
- -

BUILT T - DETAIL
1 : 5

35
6 

SP
AC

ES
 @

 6
0 

= 
36

0
35

43
0

40

72

22Ø X 26 LONG
SLOTTED HOLE
(TYP)

22Ø HOLE FOR
M20 BOLT
(TYP)

45 45 3232

154

7
- -

FLANGE - DETAIL
1 : 5

JACKING BEAM

W150X37

200X200X25 THICK
JACKING BASE PLATE

43
5

REVISIONSNO.

ELEV.
B.M.

DATE DATEBY

SCALE:

DRAWN
BY

BY
DESIGNED

CONSULTANT DRAWING NO.

APPROVED

ACCEPTED BY

BY

REVIEWED
BY

DATE

CITY DRAWING NUMBER

SHEET       OF

ARLINGTON BRIDGE REHABILITATION
BEARING REPLACEMENT

PIER 2 AND 4 
TYPE A JACKING DETAILS

SA KA

EV MJB

AS NOTED

24.05.14

4

4

B106-24-04

734-230070400-DWG-S1104MOHAMED MADY, PH.D, P.ENG
BRIDGE PLANNING & OPERATIONS ENGINEER

00 ISSUED FOR TENDER 24.05.14 SA

ENGINEERS
GEOSCIENTISTS
MANITOBA

Certificate of Authorization
Tetra Tech Canada Inc.

No. 6499

JACKING NOTES:

1. REFER TO SHEET 3 FOR JACKING NOTES.

2. GRIND AND LEVEL CONCRETE SURFACE PRIOR TO INSTALLING
FABREEKA PAD AND JACKING BASE PLATE.

DISCLAIMER
THE PROPOSED DESIGN COMPLETED BY TETRA TECH CANADA INC IS BASED ON
COMPETENT STEEL AND CONCRETE MEMBERS AND CONNECTIONS WITH LIGHT
CORROSION. TETRA TECH CANADA INC CANNOT GUARANTEE THAT THERE ARE

ADDITIONAL STRUCTURAL STEEL OR CONCRETE DEFECTS, NOT EVIDENT DURING
TETRA TECH CANADA INC 2023 INSPECTION, THAT MAY IMPACT THE DESIGNED
BEARING REPLACEMENT. THE DESIGNED BEARING REPLACEMENT DOES NOT
ENSURE PUBLIC SAFETY, RATHER PROVIDES SOME LEVEL OF COMFORT THAT

THE PRATT TRUSS EXPANSION AND CONTRACTION IS NOT OBSTRUCTED.

REVISION "    " SEALED BY
ORIGINAL DRAWING

00
S.Y.I. AWAD

24.05.14

ORIGINAL SIGNED


	Sheets and Views
	Layout1


